WASHER
5/16"
LOCK
@ SOCKET BUTTON HEAD SOCKET BUTTON HEAD |\ - 2h
BOLT 5/16 x 2-1/2" 5/16 x 2-1/2"

5/16"

/N

— _ ~_  WASHER
— £ § 3 | m //—A‘\ 5/16
. T i i (7
o ° \ ~

] ﬂ SOCKET BUTTON

HEAD BOLT 5/16 X 2" WASHER
5/16
INSTRUCTIONS:
HARDWARE

1.- PLACE THE CENTRAL BOX LATERALLY ON A CLEAN AND FLAT SURFACE TO FIX THE LEGS AS SHOWN IN FIG. 1.
2.- ONCE THE LEGS ARE ON ITS PLACE, USE THE LONGER BOLTS AND WASHERS TO FIX THE LEGS BROM THE BOTTOM DESCRIPTION #PCs
A.S- SHOWN IN FIG. 2 ’ SOCKET BUTTON HEAD BOLT 5/16 X 2-1/2" 8

e WASHER 5/16" 12
3.- WITH SOMEONE ELSE'S HELP, PLACE THE BASE UPRIGHT ON THE FLOOR AND PUT THE TOP IN ITS PLACE, AS LOCK WASHER 5/16 12
SHOWN IN FIG. 3. SOCKET BUTTON HEAD BOLT 5/16 X 2" 8
4.- FINALLY FIX THE TOP WITH THE SHORTER BOLTS AND WASHERS AS SHOWN IN FIG. 4 ALLEN KEY 3/16" 1

PRODUCT IMAGE SHOWN IS FOR ILLUSTRATIVE PURPOSES ONLY, SHOULD NOT BE TAKEN AS REFERENCE POINT

: 0@ ASSEMBLY INSTRUCTIONS

wﬂw/ |-CNT-C003-BK




	Sheets and Views
	2.DINNING & KITCHEN-Model


